[bookmark: _GoBack]Poznamo štiri računske operacije:

SEŠTEVANJE

     12           +           6           =       18
seštevanec       seštevanec         VSOTA

ODŠTEVANJE

         39             –        12            =        27
zmanjševanec     odštevanec         RAZLIKA

MNOŽENJE

    2          .          3          =             6
faktor           faktor              PRODUKT
množenec   množitelj           ZMNOŽEK

DELJENJE

45           :          9     =           5
deljenec      delitelj       KOLIČNIK
